EARAROBREBRT —5 XN—ZXBISH—F

2023518288 (£) 19EHAE4H

Ul A=158 C2 HSRASLE BN IR
[xE&] 15 :450,000H  23%&:144,000W  3#&:81,000H  43%&:54,000H  53&:36,000H
B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
= alllE : -3-4- - FEBH (£8B)
11710277 T—VL SR s MR 1 5_165) LiEs
RS/ IUITVR BiF—ZINVE—F WA K
S so4 | LEHEE 1:57.2 7-7-6-4 | 40.0| — 6 | 463 |FEM (£E)
20111 | VFFrY #53.0 (/4) 45 | BRIGT
RFIN—0 B:ITFVIIT %% L HERKUS
8 4 | AKX 1:57.7 5-5-5-7 |39.7 | — 4 N6 | MHEZ (EH)
3 3| AAA 52.0 21/ 1 |llEsE
RTRIAVL—Y BNH)N FrUEFYRT7—L
—n o LWIT#E : -1-1- - KEHK (E8)
4 4 F ATV 4 5 56.065 1(.35/74.)8 1-1-1-3 | 40.6 12 (4335) i 8
X:Rio de La Plata £2:Berched Earl Haras du Log
<, sy = lisEE : -4-2- - BEER® (8)
5 2| TVITIVART T — 5| X5 1('15,72')9 M R : ?_528) Tl
R:¥I774 #8:T7zU—FzbAHO BHBUS
=~ B o6 | MW 1:58.2  [11-11-12-11] 38.7 | — 8 | 480 |KBEEK (£E)
6812 73939 =Y ¥¢55.0 (1172 1) 955%%16
R:7RRAVIAI—Y B:ISOVIUYPRZR 7359V HEHS
< Rt : -6-7- - DB (58
- 7| EVZ O # o6 | Wt (115%25) 6-6-7-9 | 40.1 5 (‘ﬁg e (1£2)
RiI=IVRANAO— B:ILFA—T1—/N\— KERIS
= °— 4 5 | BEE— 1:59.0 2-2-3-6 | 4.6 — 7 463 |IIBZEEF (£8)
8|5|5|=1FN—JzTh %.0 @172 ) | B
RTFARSIVR 894V RU—L HE L
9 8 AVIRNY—FYT 8 4 'SJQT%IZ 1(:15/92.)1 9-9-9-5 |40.2| — 3 (4_066) “Ié;ggﬁ ({£B)
RVIR—bk BTFYF 4= ISANV—ZVTEYI—
% s 5 | REEC 1:59.2 8-8-8-8 |40.5| — " 43) | PEHE (EH)
10(7| 9|7V /8vY 5.0 k) C» | (B JP N
R:IUA—Y BRAALTUAN— alle
> ~)3) 5 | HKEA 1:59.5 12-12-11-12|39.9 | - 10 | 502 |KBEX (EH)
1Ml5l6 | V2w /TAEYY + 56.0 a1/2) -6) B ) PN
R:T—VRI—-R B:FYNATT7S4T BH B
. iy | T 1:59.8  |10-10-10-10| 41.0 | — | 9 | 430 |HABT (£ED)
12(8(11| 7Y 5.0 A 1/2) Cn | EEEA
R:/IIURS BARRSYY E BRE
@ 1—F—&BIEL
13—7F— 4,5,10,2,3,7,1,9,8,11,12,6
20—F— 4,5,10,2,3,7,1,9,8,11,12,6
30—+— 4,2,5,10,3,1,7,9,8,11,6,12
43—F— 2,10,4,1,8,5,3,9,7,11,12,6
[ BN
B s 10 1301 | | DA & 1-10 940H % 3= 1-7 3,890M 3EE 1-3-10 8,380M
B B 10 1001 3-10 390M Fs E 1-10 2,940 3&EE 10-1-3 33,4104
1 480 1-3 7,070M B8 10-1 3,270H
3 2504

ABIC OV TRUTEREERRODDZE. THRIIZEL.




